MIAMI-DADE WATER AND SEWER DEPARTMENT Price List Effective August 11, 2016							
DESCRIPTION	PRICE	SALES TAX 7.00%	TOTAL				
SUBMETERS							
5/8" METER AND 3/4" COUPLING	\$56.88	\$3.98	\$60.86				
5/8" METER, 3/4" COUPLING, METER BOX & COVER	\$173.88	\$12.17	\$186.05				
1" METER AND 1" COUPLING	\$125.93	\$8.82	\$134.75				
1" METER, 1" COUPLING METER BOX & COVER	\$242.93	\$17.01	\$259.94				
1 1/2" METER AND ADAPTER KIT	\$395.32	\$27.67	\$422.99				
1 1/2" METER, ADAPTER KIT METER BOX & COVER	\$834.23	\$58.40	\$892.63				
2" METER AND ADAPTER KIT	\$516.74	\$36.17	\$552.91				
2" METER, ADAPTER KIT METER BOX & COVER	\$955.65	\$66.90	\$1,022.55				
5/8" AMR METER AND 3/4" COUPLING	\$137.45	\$9.62	\$147.07				
1" AMR METER AND 1" COUPLING	\$207.49	\$14.52	\$222.01				
1 1/2" AMR METER AND ADAPTER KIT	\$467.36	\$32.72	\$500.08				
2" AMR METER AND ADAPTER KIT	\$608.85	\$42.62	\$651.47				
3" AMR METER	\$652.08	\$45.65	\$697.73				
4" AMR METER	\$811.97	\$56.84	\$868.81				
REPLACEMENT METER BOXES	, COVERS AN	D OTHER PARTS					
3/8 CAST IRON SINGLE METER BOX COVER fits a 5/8" or 1" meter	\$79.86	\$5.59	\$85.45				
3/8 SINGLE CONCRETE METER BOX fits a 5/8" or 1" meter	\$37.14	\$2.60	\$39.74				
2' x 4' STEEL METER BOX COVER fits a 1 1/2" or 2" meter	\$237.62	\$16.63	\$254.25				
2' x 4' CONCRETE METER BOX fits a 1 1/2" or 2" meter	\$201.30	\$14.09	\$215.39				
AMR TRANSMITTER	\$82.05	\$5.74	\$87.79				

Prices are subject to change. Contact Customer Relations (305) 665-7477 for current prices.

	Meter Size	Quote Date Description		Price Ea	Used	Price
1)	5/8 inch x 3/4 inch with Coupling	1				
	Parts:					
а				\$39.75	1	\$39.75
b	Coupling	07/26/16 3/4 meter coupling (Ford # C38-23-2.5)		\$6.12	2	\$12.24
			Parts Total			\$51.99
			Stores Overhead			\$4.89
			Sales Price			\$56.88
2)	5/8 inch x 3/4 inch with Box and	Cover				
	Parts:					
a	5/8 inch mete			\$39.75	1	\$39.75
b	Coupling	,		\$6.12	2	\$12.24
C	Single Concrete Box	` ,		\$33.95	1	\$33.95
d	Cast Iron Box Cove	1/2/2014 Cast iron box cover		\$73.00	1	\$73.00
			Parts Total			\$158.94
			Stores Overhead			\$14.94
٥١	4		Sales Price			\$173.88
3)	1 inch with Coupling					
	Parts:	40/44/0044 411		004.75	,	004.75
a		10/11/2014 1" meters		\$94.75	1	\$94.75
b	Coupling	7/26/2016 1" meter coupling (Ford # C38-44-2.65)	Dowto Total	\$10.18	2	\$20.36
			Parts Total Stores Overhead			\$115.11
			Sales Price			\$10.82 \$125.93
4	4 in ab with Day and Caven		Sales Filce			\$125.95
4)	1 inch with Box and Cover Parts:					
,	1 inch Mete	10/11/2014 1" meters		\$94.75	1	\$94.75
a b	Coupling			\$10.18	2	\$20.36
	Single Concrete Box	, •,		\$33.95	1	\$20.30 \$33.95
d	Cast Iron Box Cove	· · · · · · · · · · · · · · · · · · ·		\$73.00	1	\$33.93 \$73.00
u	Cast Holl Box Cove	TIZIZOTA CASETIOTI DON COVET	Parts Total	•	ı	\$222.06
			Stores Overhead			\$20.87
			Sales Price			\$242.93
			24,001,100			Ψ= :2:00

Revised: 8/4/2016 1 of 6

	Meter Size	Quote Date Description	Price Ea	Used	Price
5)	1 1/2 inch with Lok Pak				
	Parts:				
а	1 1/2 inch meter	10/11/2014 1 1/2" meters	\$270.85	1	\$270.85
b	Lok Pak - 1.5" Meter	7/26/2016 1 - 1 1/2" Tap meter couplings for 1 - 1/2" IP, w/gaskets, Ford #CT35-66	\$45.25	2	\$90.50
		Parts Total	l		\$361.35
		Stores Overhead	l 9.40%		\$33.97
		Sales Price	•		\$395.32
6)	1 1/2 inch with Lok Pak, Box and Parts:	d Cover			
а	1 1/2 inch meter	10/11/2014 1 1/2" meters	\$270.85	1	\$270.85
b	Lok Pak - 1.5" Meter	7/26/2016 1 - 1 1/2" Tap meter couplings for 1 - 1/2" IP, w/gaskets, Ford	\$45.25	2	\$90.50
С	2' x 4' Precast Concrete Box	5/6/2014 2' x 4' precast concrete meter box	\$184.00	1	\$184.00
d	2 x 4 Steel Cover	1/2/2014 2' x 4' steel cover	\$217.20	1	\$217.20
		Parts Total	l		\$762.55
		Stores Overhead	l 9.40%		\$71.68
		Sales Price	•		\$834.23
7)	2 inch with Lok Pak Parts:				
а	2 inch meter	7/26/2016 2 inch meters	\$350.00	1	\$350.00
b	Lok Pak - 2.0" Meter	7/26/2016 2" Tap meter couplings, for 2" IP, w/gaskets, Ford #CT35-77	\$61.17	2	\$122.34
		Parts Total	1		\$472.34
		Stores Overhead	l 9.40%		\$44.40
		Sales Price	•		\$516.74
8)	2 inch with Lok Pak, Box and Co	<u>ver</u>			
	Parts:				
а	2 inch meter	7/26/2016 2 inch meters	\$350.00	1	\$350.00
b	Lok Pak - 2.0" Meter		\$61.17	2	\$122.34
С	2' x 4' Precast Concrete Box	5/6/2014 2' x 4' precast concrete meter box	\$184.00	1	\$184.00
d	2 x 4 Steel Cover		\$217.20	1	\$217.20
		Parts Total			\$873.54
		Stores Overhead			\$82.11
		Sales Price	•		\$955.65

Revised: 8/4/2016 2 of 6

Meter Siz	ze (Quote Date Description		Price Ea	Used	Price
AMR METERS	S					
1) <u>5/8 inch :</u>	x 3/4 inch with AMR Regi	ster and Coupling				
Parts:						
а	5/8 inch meter	2/7/2014 5/8" x 3/4" meter with AMR Register		\$113.40	1	\$113.40
b	Coupling	07/26/16 3/4 meter coupling (Ford # C38-23-2.5)		\$6.12	2	- +
			Parts Total			\$125.64
			Stores Overhead			\$11.81
			Sales Price			\$137.45
2) <u>1 inch wi</u>	ith AMR Register and Cou	upling				
Parts:						
а	1 inch Meter	2/7/2014 1" meters with AMR Register		\$169.30	1	\$169.30
b	Coupling	7/26/2016 1" meter coupling (Ford # C38-44-2.65)		\$10.18	2	
			Parts Total			\$189.66
			Stores Overhead			\$17.83
			Sales Price			\$207.49
	h with AMR Register and	Coupling				
Parts:						
а	1 1/2 inch meter	2/7/2014 1 1/2" meters with AMR Register		\$336.70	1	\$336.70
b	Lok Pak - 1.5" Meter	1/0/1900 1 - 1 1/2" Tap meter couplings for 1 - 1/2"	. •		2	+
			Parts Total			\$427.20
			Stores Overhead			\$40.16
			Sales Price			\$467.36
4) <u>2 inch wi</u>	ith AMR Register and Cou	upling				
Parts:						
а	2 inch meter	2/7/2014 2 inch meters with AMR Register		\$434.20	1	\$434.20
b	Lok Pak - 2.0" Meter	7/26/2016 2" Tap meter couplings, for 2" IP, w/gaske	ets, Ford #CT35-77	\$61.17	2	\$122.34
			Parts Total			\$556.54
			Stores Overhead			\$52.31
			Sales Price			\$608.85

Revised: 8/4/2016 3 of 6

	Meter Size	C	Quote Date Description		Price Ea	Used	Price
5)	3 inch with AMR Parts:	Register and Cou	ıplin <u>g</u>				
а		3 inch meter	2/7/2014 3 inch meters with AMR Register Connected via flanges, customer provided	Parts Total Stores Overhead Sales Price	9.40%	1	\$596.05 \$0.00 \$596.05 \$56.03 \$652.08
6)	4 inch with AMR Parts:	Register and Cou	ıpling				
а		4 inch meter	2/7/2014 4 inch meters with AMR Register Connected via flanges, customer provided		\$742.20	1	\$742.20 \$0.00
				Parts Total Stores Overhead Sales Price	9.40%		\$742.20 \$69.77 \$811.97

Revised: 8/4/2016 4 of 6

Meter Siz	е	Quote Date Description		Price Ea	Used	Price	
REPLACEMENT BOXES, COVERS AND OTHER PARTS							
	Cast Iron Box Cover	1/2/2014 Cast iron box cov	ver Stores Overhead Sales Price		1	\$73.00 \$6.86 \$79.86	
	Single Concrete Box	7/26/2016 Single Concrete	Box (#38) Stores Overhead Sales Price		1	\$33.95 \$3.19 \$37.14	
	2 x 4 Steel Cover	1/2/2014 2' x 4' steel cover	Stores Overhead Sales Price		1	\$217.20 \$20.42 \$237.62	
2' x	4' Precast Concrete Box	5/6/2014 2' x 4' precast co	ncrete meter box Stores Overhead Sales Price		1	\$184.00 \$17.30 \$201.30	
	AMR Transmitter	2/7/2014	AMR Transmitter (Itron 100W-R Parts Tota Stores Overhead Sales Price	i d 9.40%		\$75.00 \$75.00 \$7.05 \$82.05	

Revised: 8/4/2016 5 of 6